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it x > vyl if x < 0: 1f x > vy:
sl temp = X X = =X maximum = X
Jp =X =Y else:
ol g y = temp :
I maximum = vy
1f x > vy:
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if jolws

.Aiﬂagjé 5)U)iL5}L»4¢fiathLo[]

import random

1t random.randrange(0, 2) ==
print(‘Heads )
else:

print(‘Tails®)

% python
Heads

% python
Heads

% python
Tails

% python
Heads

flip.py

flip.py

flip.py

flip.py
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if yoJws 3p)5 j) Jls i
B

i f :
absolute value X f 0
X = =X
if x > y:
put x and y into temp = X
sorted order X =Yy
y = temp
maximum of if x > y: maximum = X
x and y else: maximum = y
error cC . . ...
for remalf;zcc,fer if den == 0: print(‘Division by zero’)
else: print(‘Remainder = ” + num % den)

operation

discriminant = b*b - 4.0%a*c
if discriminant < O:
print(‘No real roots’)
else:
d = math.sqgrt(discriminant)
print((-b + d) / 2.0)
print((-b - d) / 2.0)
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if x >= 0: if x >= 0:
print(‘Not ‘, end=‘’) print(‘Not ‘, end=‘’)
print(‘negative*) print(‘negative*)
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while adla

[
Jolae (1 SO\ LSle SO while asl> O
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Statement 2
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true
boolean expression > statement 1 while boolean expression:
Statement 1
— b U
false statement 2
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while adla :()0.s

S

print(‘lst Hello’) % python tenhellos.py
print(‘2nd Hello*) 1st Hello
: . . 2nd Hello
print(‘3rd Hello*) 3rd Hollo
4th Hello
=4 5th Hello
B 6th Hello
while i <= 10: 7th Hello
: . . . 8th Hello
print(str(i) + ‘th Hello*) oth Hello
i=1+1 10th Hello

adl> oui Lol yiulial jgiws 0,5 Jhgel 9 Jolaie sllas SO @
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import sys % python powersoftwo.py O
01

n = int(sys.argv[1l])
% python powersoftwo.py 1

i=0 o

power = 1 L2

while i <= n: $ python powersoftwo.py 2
print(str(i) + ° ° + str(power)) 0 1
1 =1+ 1 1 2
power = 2 * power 2 4
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import sys

int(sys.argv[1l])

n =
1 =0
power = 1

while i <= n:

print(str(i) +

1 4= 1

power

#1 =1+ 1

*= 2 # power = 2 ¥

+ str(power))

power
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MICE TRY.

int county

for (count = 15 CounT{ =500 ; count+ +)
prinitf ("I will not Throw paper dirplanes n class,”);

refurn O |

e e
IR ENTT] e

iy
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for adla ;)0

print(‘lst Hello’) while ail> print(‘lst Hello’) for ail>
print(‘2nd Hello*) print(‘2nd Hello*)
print(‘3rd Hello*) print(‘3rd Hello*®)
1 =4
while i <= 10: for i in range(4, 11):
print(str(i) + ‘th Hello*) print(str(i) + ‘th Hello*)
1 =1+ 1
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for adla ;)0

R .,

print(‘lst Hello’) for aal-

print(‘2nd Hello*)

range(m, n) ) m=<=1<n print(‘3rd Hello*)

range(n) — 0 <= 1 < n for i in range(4, 11):
print(str(i) + ‘th Hello*)
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import sys import sys

n = int(sys.argv[1l]) n = int(sys.argv[1])

1 =0

power = 1 power = 1

while i <= n: for i in range(n + 1):
print(str(i) + ° ° + str(power)) print(str(i) + ° ° + str(power))
1 += 1 power *= 2
power *= 2 while ail> for ail>
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import sys

n = int(sys.argv[1l])

ruler =

for i in range(l, n + 1):

ruler =

print(ruler)

ruler + str(i) + ruler

S G 4 by e Gl iy sbxl O

. & s .

NGl lade 2 glila O

o 1,8 T Jase b oo ol ruler all, lode 3l aseud go

1 "1

2 "1 21"

3 "1 213121"

4 "121312141213121"
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power = 1

for 1 in range(n + 1):
print(str(i) + * °
power *= 2

write first n + 1 powers of 2 + str(power))

total = 0
for 1 in range(l, n + 1):
total += 1

compute a finite sum
(1+2+...+n)

print(total)
. product = 1
compute a_,_fm_’,_te pde”Ct for 1 in range(l, n + 1):
nl=1%*2%*_..%n) =
product *= 1
print(product) ;

print a table of

function values for 1 in range(n + 1):

print(str(i) + * ° + str(2 * math.pi * 1 / n))
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o3 )> o3 if Olygiws
N

if income < 0:

else: <0 0 %
if income < 8925: 0 - 8,925 10%
rate = 0.10 8,925 - 36,250 15%
else: 36,250 - 87,850 23%
if income < 36250: 87,850 - 183,250 28%
rate = 0.15 183,250 - 398,350 33%
else: 398,350 - 400,000 35%
if income < 87850: 400,000 - 39.6%
rate = 0.23
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if

elif
elif
elif
elif
elif
elif

else:

income
income
income
income
income
income

income

A AN AN A AN A A

0:
8925:
36250:
87850:

183250:
398350:
400000:

rate
rate
rate
rate
rate
rate
rate

rate

o O O O O O O O

)

f SlygTw

.00
.10
.15
.23
.28
.33
.35
.396

<0
0 - 8,925
8,925 - 36,250
36,250 - 87,850
87,850 - 183,250
183,250 - 398,350
398,350 - 400,000
400,000 -

0 %
10%
15%
23%
28%
33%
35%
39.6%

1WA - (5615) 1006 331 — (BBl g ¢boyb Oil)elws - ugiasly polic - HeTlL ugiaslby



N ===,

if
if
if
if
if
if
if

income
income
income
income
income
income

income

else:

0:
8925:
36250:
87850:

183250:
398350:
400000:

ola 95 ) o3

f SlygTw

rate
rate
rate
rate
rate
rate
rate

rate

o O O O O O O o

.00
.10
.15
.23
.28
.33
.35
.396

<0
0 - 8,925
8,925 - 36,250
36,250 - 87,850
87,850 - 183,250
183,250 - 398,350
398,350 - 400,000
400,000 -

0 %
10%
15%
23%
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import sys 1

n = int(sys.argv[1l])

1/2

total = 0 1/3

1/4

for i in range(l, n + 1):
total += 1.0 / 1

print(total)
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import sys
% python harmonic.py 2

n = int(sys.argv[1l]) o5

% python harmonic.py 10

total = 0 2.9289682539682538

for i in range(l, n + 1):
_ % python harmonic.py 10000
total += 1.0 / 1
9.787606036044348

print(total)
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sacl yda awlaws

R

% python sqrt.py 2.0
1.414213562373095

to = 20
ty, = %(to+%> = 1.5

t, = 3(t+g) = 1416666666666665
ts = 3(t+) = 14142156862745097
ty = 3(ts+3) = 14142135623746899
ts = 3(ta+3,) = 1.414213562373095

Pore 18 dulon

math.sqrt( éjt{ & lwosln . Bon O

C o3e pgd dly; duloxs jslate dy oudl (g (b9, O
.o.).g)‘)éc bf‘f ‘) tO )‘A.O.o O
S LS 5 Jes woais B at = ¢/t bysas Syt O
o B/t 5ty polie (Sl b pln |y Ligg lads
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import sys

EPSILON = le-15

c = float(sys.argv[1])

t=2C¢C

while abs(t - c¢/t) > (EPSILON *

t=(c/t+1t) /2.0

print(t)

math.sqrt() @b‘ & ilwosln (i O

C o3e pgd dly; dwloxe jslate dy emdl =i (b9, O
.od.g)‘)éc l.a).:‘).s ‘) tO )‘A.o.n (m ]
255 LS5 5 Jes woaid Hl Bt = ¢/t bysas Syt O
od B/t 5ty polie (Sl b pln |y Cigg jlade

t): % python sqgrt.py 2.0
1.414213562373095
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import sys

EPSILON = le-15
c = float(sys.argv[1l])
t =C

while abs(t - c¢/t) > (EPSILON *
t=(c/t+t) /2.0

print(t)

t):

Il (30s) lac) yda awlas

iteration t c/t
2.0000000000000000 1.0
1 1.5000000000000000 1.3333333333333333
2 1.4166666666666665 1.4117647058823530
3 1.4142156862745097 1.4142114384748700
4 1.4142135623746899 1.4142135623715002
5 1.4142135623730950 1.4142135623730951
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import sys
h = int(sys.argv[l
v = 1 (sy gvLiD) % python binary.py 19
while v <= n//2: 10011
vV ¥= 2

i % python harmonic.py 255
while v > 0:

1f n < v: 11111111
print(0, end=‘")
else: % python harmonic.py 512
print(l, end="") 1000000000
_=V
v //=2
print()
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import sys
import random

0)Lad (,STmSn)g

BE7M | stake = int(sys.argv[1]) -
goal = int(sys.argv[2])
trials = int(sys.argv[3]) stake goal trials
) / / /
?ts =0 $ python gambler.py 10 20 1000
wins = 0 49% wins

for t in range(trials):
cash = stake
while 0 < cash < goal:
bets += 1
if random.randrange(0, 2) ==
cash += 1
else:

cash -= 1

Avg # bets: 99

% python gambler.py 50 250 100
21% wins
Avg # bets: 12712

% python gambler.py 500 2500 100
21% wins
Avg # bets: 1002424

if cash == goal:
wins += 1

print(str(100 * wins // trials) + ‘% wins’)
print(‘Avg # bets: ’ + str(bets // trials))
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